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Topic:- General Knowledge and Logical Knowledge

1) If IJKLMNO is coded ACTVSRX, then how is KILL coded? / gfé ITKLMNO P ACTVSRX |

Fifea forar omar 8, 9t KILL ®1 53 Sifsd foar smam?
1. TAXX
2. TAVV
3. TSVV

4. TVSS

Correct Answer :-

« TAVV

2) Find the odd one out: / Th faug ﬁlﬂﬁﬁrmz
720, 360, 120, 30, 5

1. 30

2. 120

3.5

4. 360

Correct Answer :-

3) What is the value of y in 2y + 1y+y3+2y+y3=1y8?/2y+1y+y3+2y+y3=1y8ﬁ'y$T'FlT:faﬂT%?
1.6

2.7
()



3.5

4.4

Correct Answer :-

. 4

4) 10'™® pPrime Minister who was born in Madhya Pradesh whose Birthday is now celebrated as the «

Good Governance day”. / HRd BT GHdl T St Ae u%.&rrﬁﬁagan, foraeT Sfe 3@ eI
TGN 87 & U § TR ST g

1. Arjun Singh / \?'I\_fizlﬁl_a'
2. Chandrasekhar / TSRIGR
3. Atal Bihari Vajpayee / 3cdl ICRREISERI]

4, Shankar Dayal Sharma / RI®GaTdd e

Correct Answer :-

« Atal Bihari Vajpayee / 3{cd [EENEISERl

5) In which state of India would you come across the hill stations of Ooty and Kodaikanal? /&Y 3R

PISHHTA o UGTST VI TR 3T YR & 5 I § ST
1. Tamil Nadu / dHQHTS

2. Karnataka / $lc®

3. Kerala / 3d

4. Maharashtra / HeIRTY

Correct Answer :-

¢ Tamil Nadu/alila:||§

6) Who is the Chief Minister of Gujarat? / TSIRTd & JBTHAT BIT 32
1. Nitin Patel / ifd Ucd

2. Amit Shah / 3{T¥d Q18

3. Anandiben Patel / GTFIaa:T ucd

4. Vijay Rupani / fasra =urt

Correct Answer :-

©)



« Vijay Rupani / fasra =t

7) Gautama Buddha was born in: / Ta® & PISTH 'Clﬁ'g'B'IT YT:

1. Gaya / 7111

2. Lumbini / @T‘ﬁ
3. Kapilvastu / EI'TEIFITJR_{[

4, Sarnath / IRATY

Correct Answer :-

e Lumbini/ ?:ﬂ?@l:ﬁ

8) Which of the following Articles deal with amendment to Constitution of India? / Frgifed ® 9 $14-

T 3J55¢ URd & JfAUT & TRNeA Y 7=l Har g2
1. 356
2. 370
3. 368

4.372

Correct Answer :-

e 368

9) Which of the following inter-continental ballistic missile with a range of over 5000 km was

successfully test-fired in 2016? / 2016 o fFaferfaa # 9 #9 d@t SRAGIGIUT sffes ﬁl?l'lg_ﬂ G|
5000 fpt I SfYF Pt T R TGS URIE0T fHar T 412

1. Prithvi VII /Gt VII
2. Prithvi V / J&dt v
3. Agni VII/ 30 vII

4. AgniV/&IﬁfV

Correct Answer :-

« AgniV/3lIv

10) Which High Court recently issued an order making it mandatory for Vande Mataram to be sung in

educatlonal lnstltutlons once a Week" / fra = <marer g 3 eld 'Eapf - BISIE 3 Th dR !?r&rﬁw TTL

4)



H g% ATARH B T ST B T TS e TRT fbar ur?
1. Punjab and Haryana High Court / USTTd 3R ghamn 3= <™
2. Madras High Court / H&IN¥ 3= AT

3. Delhi High Court / fa el Sad <IaTed

4. Allahabad High Court / gdlgdlq 3= <RI

Correct Answer :-

» Madras High Court / H&I¥ 3= <RI

11) Which is Indian Navy's only aircraft carrier active in service? / YR NG BT o UhHEA
|fohd fou arg® S AT 8?2

1. INS Kolkata / GHEFQT{W CANEAR!I

2. INS Vikrant / 3TSUATY fdshid

3. INS Vikramaditya / 3TSEEY faspAIGHT
4. INS Viraat / G‘I'I_ng'_'fWﬁTIE

Correct Answer :-

« INS Vikramaditya / G'I'I_'QFQ":I'QH [EEZEIER

12) The place of origin of Narmada river is? / T T BT SQIH R P82
1. Amarkantak / 3R Ch.

2. Shahdol / QTGS

3. Bhedaghat / Aerere

4. Khajuraho / @@_Qlél

Correct Answer :-

« Amarkantak / 3[R Ch

13) When did India win its first cricket world cup? / HIRd = 3U=T Ugdl fobdbe {9y U H9 Siiar?
1. 1983

2. 1984

3. 1982

(%)



4. 1981

Correct Answer :-
e 1983

14) Zakir Hussain is the son of which famous Tabla player? / bR §'€I=r 5 Ui aeaT arge & g
&

1. Amjad Ali Khan / 37HSIG 3fcll &M

2. Ahmad Jamal / SeHq STHIT

3. Alla Rakha / 3¢ AT
4. Ali Shaheed Mohammad / 37cit ngia Iﬁ_s'n:ﬁ

Correct Answer :-

« Alla Rakha / 3{¢edl AT

15) Where are the Udayagiri and Khandagiri caves located? / Icafiiy ik @S TBTE BT R
&2

1. Karnataka / SIcdH

2. Odisha/Gé 3]

3. Maharashtra / HeIRTY

4. Madhya Pradesh / HH Yoz

Correct Answer :-

» QOdisha/ 33 3]

16) Jabalpur is an important town, which falls under the Region. / SId¢IYR, D TD ﬂ?ﬁ'@f
WD & el smar 3

1. Bundelkhand / W
2. Mahakaushal / Il%’lﬁw
3. Malwa / HIGAT

4. Chota Nagpur / BIc MY

Correct Answer :-

« Mahakaushal / HGTh I

(6)



17) Who was the first Indian to go to space? / 3fafver i M 91T Ug el YR HI9 UT?
1. Sunita Williams / g-itar faferaey

2. Rakesh Sharma / 2T RMAT

3. Ravish Malhotra / J[QT II@BIT

4. Kalpana Chawla / & T <Tdcll

Correct Answer :-

« Rakesh Sharma / JTh 2 AT

18) Who was the founder of Bhoodan Movement? / QI SATEIaT & Yadd DI A2
1. Indira Gandhi / 3fe=T 7Teft

2. Mahatma Gandhi / HeTdHI "'I"f?-ﬂ

3. Jai Prakash Narayan / ST UhTR[ ARIIUT
4. Vinoba Bhave / fa=IaT 41d

Correct Answer :-

« Vinoba Bhave / faIaT 419

19) Who was the second president of India? / HIRd & ﬁ_vﬂ'q ?Tg":lﬁ' P A2
1. Zakir Hussain / SR @T‘T

2. S Radhakrishnan / T RTYTH W

3. R Venkataraman / 3R dehe<d

4.8 D Sharma / TH ST QM

Correct Answer :-

* S Radhakrishnan / U TYTH W[

20) Who wrote 'Discovery of India'? | feemadt 3T giear fean feradt die

1. Bal Gangadhar Tilak / STET[ ¢R fads

2. Jawaharlal Nehru / STATER T A8

3. Mahatma Gandhi / HSTHT Trieft

(7)



4. APJ Abdul Kalam / U0 ST, 3/egd satd

Correct Answer :-

« Jawaharlal Nehru / STATgdld "8

21) The Vice Chancellor of which renowned institution recently proposed introducing a tank on campus

to promote nationalism?/WWW%WﬁWaﬁWﬁmﬁ%mw
T U b Bl Ugd P DT URATd T UT?

1. St. Stephen’s / e THd

2. Jawaharlal Nehru University / SIdIgX cfle '?IS%\ ﬁ%ﬁw
3. Delhi Technological University / [ESll BRG] fayfaeme
4. Miranda House / THRIST RIRRSE

Correct Answer :-

« Jawaharlal Nehru University / STATeR Td He<= [94faead

22) Gulab Sagar is a dam in? / JATd R iy fog Rrem o %?
1. Banjar District / SO forer

2. Shahpura District / RITGYRT

3. Chambal Valley / JH ¢l 91t

4. Sidhi District / I} forar

Correct Answer :-

« Sidhi District / Rt forar

23) Name of the airport at Indore is Airport. / E?a?' = 331'&‘: GI%' DI ATH %l

1. Devi Ahilyyabai Holkar International / &dT STEeHTaTS GIAIex RIS BaTs 37g]
2. Raja Scindia International / XTSIl RferT 31?1@@'& RGN S

3. Raja Bhoj / ST SIS cRRTSIT gaTs 37gT

4. Dhana International / YT @HW@H Ba'lg S

Correct Answer :-

« Devi Ahilyyabai Holkar International / éﬁ Gi%cqldlir INER W@’q Ea'lg Sl

(8)



24) Complete the series choosing the missing number: / & BT GABY JEAT DI GRT HITOTT:
1,9, 25, , 81,121

1. 45

2.50

3.55

4. 49

Correct Answer :-

. 49

25) Complete the series choosing the missing number: / &I IBAT FAHY FTAT DI GRT BIFOT:
1,4,9,_ ,25,36

1. 16

2. 14

3.20

4. 15

Correct Answer :-

26) Select the option that is true about the Statements and Conclusions given:

Statements:

Some monkeys are turtles
Some monkeys are puppies
Conclusions:

I. Some puppies are not turtles
Il. Not all puppies are monkeys

/ 3 TIP T 1 I BIToTE SIfP 3T T8 HYT 3R Frewpul & a) & 981 8:
DHYH:

PO TR QU

FO de? et &

ﬁl’lﬁﬂf:

. O fUed FgU L

1. Foft fUret SR g &

©)



1. only conclusion Il follows / Had Ry | WW%

2. only conclusion | follows / Had e | &H\ER'UTWT%

3. neither conclusion | nor conclusion Il follows /Tfﬁﬁml ﬁ?ﬁﬁﬁr&m‘ I mm%
4, both conclusion | and Il follows /ﬁwﬂfl GﬁT Il aﬁr WW%

Correct Answer :-

« only conclusion Il follows / Had sy 1| C“rlﬂﬂTUTW_CIT%

27) Select the option that is true about the Statements and Conclusions given:

Statements:
Some helicopters are planes

All parachutes are planes
Conclusions:

I. Some parachutes are not helicopters
II. Some helicopters are parachutes

/ 3 fasre &1 ga-1 BT P fau T Hy=1 3R et & a3 I8 8:

DY

O TAPIER e &

Tt WIge e

e

. PO WIE FHPIER TE ¢

I. TS TP WRIIC &

1. only conclusion Il follows / Had Y || GENTUTWT%

2. only conclusion | follows / &I By | &aﬂwm%

3. either conclusion | or conclusion 1l follows /W?ﬁﬁ'@h—ﬁf | 7 frep ) &WW%

4, both conclusion | and Il follows /ﬁ'&lﬂfl GﬁT Il aﬁr &WW%

Correct Answer :-

« either conclusion | or conclusion Il follows / a1 dl frspt | A7 fsm | WW%

28) Select the option that is true about the Statements and Conclusions given:
Statements:

Some parathas are roties

No roties are buns

Conclusions:

I. All roties are parathas

I1. Not all roties are parathas



/ I faHeq BT I9 HiToIe Sifd ST T HYAT 3R ooyl & a1 # I8l §:
DY:

PO WIST AfeTi §
B AN U T ?

e
1. gt et wreT @
1. gt Afeai WreT a8 €

1. only conclusion Il follows / aﬁﬂﬁﬁlﬂf 1 WW%
2. only conclusion | follows / FHad fASHY | SR HRT §
3. neither conclusion | nor conclusion Il follows /:f_sﬁﬁlﬁlﬂfl ﬁ?qﬁﬁ'ﬁlﬂf I &WW%

4. both conclusion 1 and Il follows / FT&GE | 3R 11 ST SFERTI BRI §

Correct Answer :-

« only conclusion Il follows / aﬂﬂﬁ'@ﬂf I HWWT%

29) The series given below contains a sequence of numbers. Identify the incorrect

combination: / - &Y ¥ s@an #, TS T TS HH IUTRIA € | T Ao UgAI-g:
3, 10, 27, 4, 16, 64, 5, 25, 125

1. 10

2.25

3. 125

4. 64

Correct Answer :-

30) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T €I T ga@r #, Tl &1 TH HH IURIT § | Tad IS Ugdn—g:
7,11, 13, 17, 19, 23, 25, 29

1.29

2. 11

3.25

4.13

(11)



Correct Answer :-

31) If PARROT s coded QZTPRQ, then how is PEACOCK coded? | Tf¢ PARROT &Y QZTPRQY
Bifed a1 &ITdT ®, A1 PEACOCK &1 $ Sifsd fvar s

1. QDCARZO
2. QDCARZP
3. QDCARAO

4. QDDBARZO

Correct Answer :-

« QDCARZO

32) If LOCKis coded KNBJ, then how is WINDOW coded? / afe¢ LOCK® kKNBJ A wifsd faar
ST 8, @ WINDOW &Y ) ifsd fhar Sm?

1. VIMENV
2. VHMCVN
3. VHMCNV

4. VIOEPV

Correct Answer :-

* VHMCNV

33) Complete the series choosing the missing letter/s: / Ul SAER/3MERT DI EGERETCHI) Cd] qT PifeTg:
PAP__aprp__dp__gprppapr__prp

1.r,g,q,r

2.5,1,p,9

3.npqr

4.1,p, 1,0

Correct Answer :-

* r.I pl rlq

(12)



34) In a certain code language, heavy fish boat means gena mena fena, star gold fish means mena kena tena, a
bright star means dema fenta kena. Which is the word for gold in that code language / € T PIS U ﬁ,
heavy fish boat BT 3 f gena mend fena; star gold fish T 31 mena kena tena TUT a bright star T 3f f dema

fenta kena BIAT &1 3 B8 HIUT H gold & 1T fh 2reg &1 3x¥Ta fpar man 82

1. tena
2. mena
3. dema

4, fenta

Correct Answer :-

e tena

35) Two boys and two girls are playing a game of carrom and are seated at the North, East, South and West of a
table. If one boy faces South, no girl faces either South or East. Moreover, if the children sitting opposite to each

other are not of the same sex, then, in which direction are the girls facing?/aﬁ??a’? aﬁva’rats'ﬁ?mﬁﬂn@a
@ § SR A9 & Swi, X4, Saf0r SR Ui 93 §U €1 1S TP AS 1 Sfarvr &t 3R g FRP oI g e
R P TS a1 A AT a1 T BT 3R e TP Tel 901 21 5P AR, 7l TH-gw B w3
T A v arel €1 €, o) wrefeai foa o it sik g ovd 9 g &2

1. Inadequate data / Kitepaive) W%
2. South and West / GI&0T Ud Ti%H

3. North and South / @R Td Tf&Ur

4. North and West / 3R Ud Uigd

Correct Answer :-

¢ North and West / 3« Qa’tﬂt%ﬂ

36) Two dice are thrown simultaneously. The probability of getting a total of 10 is: /E;':T‘Tlﬁ Th Id1Y LT Mal
P 10 a3 BT FHTGAT = 8

1

12

WO |

G [ —

(13)



| =

Correct Answer :-

—
(] L

37) In a certain code language, gyel gola geda means score good marks, qola sola yola
means only ten marks, and sola xela zeala means ten blue socks. Which is the word for yo/a
in that code language? / T W HIS HIT ff, qyel gola geda &1 3 ¥ score good marks; qola
sola yola &1 3l of only ten marks dA4l sola xela zeala &1 31 ¥ ten blue socks'eﬁ?lT %I EX) Bl HTHT
H yola P e {5 Wee &1 swHTa fHar T 82

1. ten
2. marks
3. good

4. only

Correct Answer :-

38) In the following question, some group of letters is given, all of which, except one,
share a common similarity while one is different.

Choose the odd one out:

/ Uy ¥ 3Rl & o I RRT L §, R H I ter ! Sises Ay 9l v guAar ueRfa #d €
SIafP U 39 T B

TS fauw g1a Fifre:
1. STU

2. FGI

3. LMO

4. ABD

Correct Answer :-



39) Complete the series choosing the missing number: / YUl HBT D JEdl Dt T PIfoT:
1,3,5,____ ,911

1.6

2.7

3.8

4, none of the above / E:I'af I ﬁé :@3[

Correct Answer :-

40) Select the option that is true about the Statements and Conclusions given:

Statements:

Some flies are priests
No musicians are priests
Conclusions:

I. Not all priests are flies
IL. All priests are flies

/wﬁwaﬂmaﬂmmﬁ?ﬁqw$ﬁaﬁ?ﬁwﬁ%aﬁﬁGﬁ%
DY

Wum‘ﬁrm%
Hﬁéwﬂwgﬁrﬁﬁqﬁ%

I Hﬂﬁgﬂﬁﬂﬂl‘%ﬁﬂ%’r%
11, 9 7o} wese &

1. only conclusion Il follows / Had sy 1| WW%
2. only conclusion | follows / HId [SHY | 3IERUT Hdl &
3. neither conclusion | nor conclusion Il follows /:fé‘)[ﬁfﬁao_ﬁfl GﬁTqﬁﬁ'ﬁéﬁﬁf Il G@TUTW%

4. both conclusion 1 and Il follows / &GS | 3R 11 S STTRT] P&

Correct Answer :-

« only conclusion | follows / I fAHY | TRV BT §

Topic:- Mental Ability and Mental Aptitude

1)

(15)



In the sequence shown below, which figure comes next? / =il T¢3 9R°1 &H #, Hdmell

b, -y ‘,E‘_‘J.J‘ B i

4.

Correct Answer :-

2) The height of the first floor Roof of a building is 14% m and that of the second floor.

Roofis 22é m. How much higher is the second fleor roof than the first floor roof?
2

| Uch 87dl o Ugel Folld ol B thl dls 14}1#“:{ AT gAY T &I Td &I 915 22%

HICT &1 TgeT FellT bl B I Jorell #, GO Tl bl & (o=l fRd =T 57

(16)



‘iOi
12
4,

Correct Answer :-

3) In the sequence shown below, which figure comes next? /@ T T8 &H #, 3T
TR Pl T FHRE?

Il i ;}
q i
1.
2.
7

1"‘
3. 4

\
4, -

Correct Answer :-

(17)



If the following two squares shown below overlap, which one of the following options

is formed? / At @Fa oF g9 Ifacfd 817 & o 9T & § &ia 91 v &Aoo a1 &
,""J‘\‘:» l‘

i
()

T !
PN
1.
[::fii:::- m
e
2.
3.
4,

5) Three years ago, Pavithra age was half of the age she will be in 20 years. What is the present age of

Pavithra? / &9 99 Ugd, ufdsm &Y omg, 39 omyg &t el A Y &t 3 arat 20 aut A gRft ufdsm &
T 3R T ]2

1. 20

2.26

(18)



3.24

4. 22

Correct Answer :-

« 26

6) Three pipes A, B, and C can fill a tank in 20, 15, and 30 hrs respectively. If all the pipes are open at
the same time, then what is the time taken to fill the tank? / i aferai A, B, 3R C Th TP B HHI:
20, 15 30T 30 Hel § YR Jodl 31 afe v & wwa # goft Aferai gell €, 9t dt ) WA # fva=n wwa
foran T 32

1. 6.67 hrs / 6.67 G¢
2.15 hrs / 15 °¢
3.10 hrs / 10 He

4.5 hrs /5‘3%

Correct Answer :-

e 6.67 hrs/6.679C

7) Three candidates contested an election and received 1188, 7326, and 11286 votes respectively. What
percentage of total votes did the winning candidate get? / T+ Sufigar U g-1d | as?r % 3R P
1188, 7326 3R 11286 Hd YTt P & | Siaq aTat SWHIGAR Pt et Al b1 fora=r wia=ra ured gaim g2

1. 60%
2.57%
3.55%

4. 58%

Correct Answer :-
e 57%

8) The product of the place value of 1 and 2 in 41325 is: / 41325 H13R2F wﬁuuﬁrmm

1. 20000
2. 18000
3. 30000

4.10000
(19)



Correct Answer :-

« 10000

9) The ratio between the present ages of P and Q is 6:7. If Q is 4 years old than P, what will be the ratio
of the ages of P and Q after 4 years. /P eﬁ?Q%ﬁaaﬁqﬁmm&mﬁm%l ?T%Q,P@4a'ﬁf
ST3 A1 4 T UYTA P 3R Q B 3T BT TUTd T G2

1.7:9
2.3:8
3.5:8

4.7:8

Correct Answer :-

« 7:8

10) If the diagonals of two squares are in the ratio 1 : 5, then what is the ratio of their areas? /Tlﬁ E.']'

M & {9l 1:5 % SrguTa & §, A 3P &ABal BT U FT 2
1.1:10
2.5:1
3.1:25

4.1:5

Correct Answer :-

11) For three numbers sum of first two is 56, the sum of second and third is 64 and sum of third and first

is 70. What is the largest number? /ﬁﬂ@ﬁﬁ%ﬁﬁ%ﬁﬁmm56 %, Q’\‘:lﬂ 3R st &1 AT
64 § T4 WHRIST 3R UGl BT ANT 70 B 1 T TS ST T 2

1. 26
2.48
3.39

4. 34

Correct Answer :-

* 39



12) In a college of 900 students, if 600 select mathematics; 350 select both mathematics and science; find
the number of students who select only science. / 900 faenf¥al & Udh ﬁaﬁﬁ, Tl'fa' 600 TIOTT ST IaT
FRd §, 350 TIOTA SR fA I 1 79+ Fvd §, At 3 faeniial 35t wiem 1 o3 o Faa fage=
BT T B g

1. 950
2. 600
3.900

4. 300

Correct Answer :-
« 300

13) A and B can finish a work in 30 days and 20 days, respectively. If they worked together for 6 days
and A leaves the job abruptly; then, how many days will B take to complete the given task? / A 3R B Th

P D1 HH: 30 fa=T 3 20 T & THE HR TP B AR I TP 6 RA PRI B T 3R A
HFHHT 39 BT P1 BIS a7 8 Y 3 53 wrf 1 ol we & B fovamt R @

1. 15 days /15 f&T
2. 10 days / 10 f&A
3. 12 days /12 a9

4. 18 days / 18 faq

Correct Answer :-
« 10 days/ 10 fa

14) The speed of a car increases by 5 km after every one hour. If the distance traveled in the first one
hour was 45 km, Then what is the total distance traveled in 7 hr? / Y& T HUS & UYTd B 1 AT 5
ol o et 31 af uga v ave o au o1 715 gt 45 Tt ff, 9t 7 9 ¥ o o 1 5 g ww e

1. 400 km / 400 Tpe!
2. 420 km / 420 Tt
3. 380 km / 380 T T

4. 350 km / 350 Tt

Correct Answer :-

o 420 km /420 fom



15) Aman’s age after 20 years will be 4 times his age 10 years back. Find the present age of Aman. / 20

o UYT 3T Pt 3T, 10 TH U SBT3 BT 4 AT SR | 3 BT FFAT AR [T B |
1. 20
2.5
3.10

4,15

Correct Answer :-

« 20

16) The Dadar Express leaves Mumbai for Delhi at 10:00 a.m. and travels at a speed of 60 kmph. The
Rajdhani Express leaves Delhi for Mumbai at 06:00 p.m. and travels at a speed of 100 kmph. The total
distance between Delhi to Mumbai is 1,600 km. At what time will both the trains meet? / Ela?mﬁ'a
TTd: 10.00 99 Yas A fawelt & for Revard! 8 8iiR 60 forelt ufer ver & et 8 | Israr=t verTdy |
06.00 T foeell & Hag & fore et § i 100 fodt wit der & =erdt 81 e & qas o oa gl
1,600 forlt 3| fop v W g1 v Torieit?

1. 12:00 a.m.
2. 11:00 p.m.
3.01:00 a.m.

4. 02:00 a.m.

Correct Answer :-

¢ 01:00 a.m.

17) The LCM of 3a, 2¢d, and 5b is: / 3a, 2cd, 3R 5b HT TYAH THITH &:
1. 40abcd

2. 30abced

3. 10abcd

4, 15abced

Correct Answer :-

¢ 30abcd

18) Find the average of all prime numbers between 1 and 20./ 1 3R 20 & T I 3rHTeT H=Tan @1
a1 B

(22)



1.12.22
2. 8.66
3. 10

4. 11.77

Correct Answer :-
e .66

19) 1f 20 % of a number exceed 16 % of 650 by 10, then the number is: /Wﬂ.’@ﬂﬁ 20% , 650 > 16%
¥ 10 3w B, A TEA E:

1. 580
2. 570
3. 550

4. 540

Correct Answer :-
« 570

20) A merchant brought an article for Rs. 170. Even after allowing a discount of 15 % on that he earns profit
of 20%. Find its market price. / U® STIRI = 170 ¥UL H TP a¥g WRIGT | TGT 9P (b 15% DI Fe Ua
P & YT Wt IR 20% BT A1 Al fam| axg &1 IoIR g 91 B

1. Rs. 250 /250 SUY
2. Rs. 240 / 240 SUY
3. Rs. 230 /230 3T

4,Rs. 210/210 307

Correct Answer :-
« Rs. 240 /240 304

21) Which one of the following four addresses is NOT EXACTLY same as the one given below? / ﬁ'ﬁ' ﬁ'a m'fr

TRIGH A TR AN RS o quE o= I TP T8 22

Samuel Chris

Lot CN3, Tu Liem 1Z,
(23)



Minh Khai Ward, North Tu Liem District
Hanoi, Vietnam

(i) Samuel Chris
Lot CN3, Tu Liem 1Z,

Minh Khai Ward, North Tu Liem District
Hanoi, Vietnam

(ii) Samuel Chris
Lot CN3, Tu Liem 1Z,

Minh Khai Ward, North Tu Liem District
Hanoi, Viatnam

(iii) Samuel Chris
Lot CN3, Tu Liem 1Z,

Minh Khai Ward, North Tu Liem District
Hanoi, Vietnam

(iv) Samuel Chris
Lot CN3, Tu Liem IZ,

Minh Khai Ward, North Tu Liem District
Hanoi, Vietnam

1. 1ii

22) Find the average. / 3Na Ferferd|

61, 67,73,79,85 & 91

(24)



1.76
2.78
3. 80

4.72

Correct Answer :-
o 76

23) Robin purchased an old car for Rs. 73500. He spent Rs. 10300 on repairs and paid Rs. 2600 for its
insurance. Then he sold it to a mechanic for Rs. 84240. What was his percentage gain or loss? / NICEE] U

R PR 73500 YT § @I IHA ARG W 10300 T T fhY 3R 39 §191 & ford 2600 T4 1
YA a1 39% 918 39+ Tl B $R 84240 FUA | o7 El | IHBT ATYH T BT UI=Ta T UT?

1.25%
2.15%
3.45%

4.35%

Correct Answer :-
e 25%

24) For three numbers (X, Y, and Z) sum of X and Y is 36, the sum of Y and Z is 44 and sum of Z and X is
50. Which will be the largest number? / €19 T&T3MY (X, Y iR 2) & i@ X 3iR Y #TUNT 36 8, Y 3R Z BT
TR 44 § TE 7 3R X BT AT 50 31 379 A T I1 T i Al Rt

1. Z only /R Z
2. X only /R X
38 Yonly/f%lﬁ’TY

4. Xand Y/ X3RY

Correct Answer :-

. Zonly/ﬁl'C%Z

25) A man can row at the speed of 10 km/h in still water. If the man takes 1 hour to row to a place and back,
in a river flowing at the speed of 3 km/h, then, calculate the distance he travels. / b =Y RRUFH 10
fpeit/eieT 3t ara & 919 ge waar 31 afe 98 3 fet/der 3t ara @ a5t 7d § Te R a9 19 gaas
S H 3fIY aToRT 39 | 1 9T AdT @ 91 39S gRT a9 B T3 gl 31 T B

(25)



1.2.3 km /2.3 foodl
2.4.34 km / 4.34 fpet
3.5 km/ 5 fodt

4. 4.55 km / 4.55 fopHt

Correct Answer :-

e 4.55km / 4.55 foet

26) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /ﬁ?ﬁﬂ'ﬁc mﬁ, 3IeRY ﬁmﬁWWWﬁ%ﬁ%I Wﬂwm
i.ghyrt2601trygh

ii.ghyrt2601trygh

iii.gbyrt2601trygh

iv.ghyrt2601trygh

1. iii

2. 1v

3.1l

4.1

Correct Answer :-

27) In a test, Gopal scored 98 marks out of 300 marks, but fails by 22 marks. What would be the minimum

percentage of marks required to pass the test? / WT\&&I’I’ ﬁ',Th'Cl'Iﬁﬁ 300 3P A | 98 3 3iffa %&,
Qs 22 3T & SIIRIUT 81 TRIT | URIET B STV Be & T STIRTP P! BT <FAad Fia=Td T 2

1.30%
2.35%
3.40 %

4.36 %

Correct Answer :-



28) Harish sells a book for Rs. 25 and gains 25%. What is the cost price at which he would have purchased
the book? / GXI%T TP YD Bl 25 TUY | addT g 3R 25% ATY I Hal 8 | IRad &1 Hd Jod FT 8
forT W 39 Y® &1 @WRier U1

1. Rs. 35/35 304
2.Rs. 20 /20 39
3.Rs. 25 /2530
4.Rs. 30 /30 ¥

Correct Answer :-

« Rs.20 /2030

29) The wheel of a car of 30 cm radius makes 140 revolutions for every 30 sec. What is the

speed of the car? / 30 Q! U1 &1 U6 &R $T ufgar Ud® 30 AHUs & 140 URHHU HId1 8| PR
P AT T 8?2

1. 12.4 min/sec / 12.4 /A% US
2. 10.6 min/sec / 10.6 fic/d®HUs
3.8.8 min/sec / 8.8 fA-Ic/AbUS
4.6.2 min/sec / 6.2 fiFc/d®wUs

Correct Answer :-

« 8.8 min/sec / 8.8 fBe/AdUs

30)
Which of the following is greater ihanlﬁé? } farateri@a # @ &l 15é o e a3 &7

1.16.850
2.16.890
3. 16.650

4. 15.990

Correct Answer :-

« 16.890

Topic:- Science and Simple Arithmetic
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1) Ify + 47 = 56, what does v + 33 represent? / AlG, v + 47 = 56, Ol v + 33 & Al T Qam?

1.50
2. 46
3.52

4.42

Correct Answer :-

. 42

2) |f gmiinognogmon = 16,then n = ARG 2mEm e gn L gmR — 145, Al n=

1.3
2.4
3.2

4.1

Correct Answer :-

3) Fuel X’ has a calorific value of 50kJ/g and produces carbon dioxide and water on combustion
where as Fuel ‘Y’ has calorific value 35kJ/g and produces oxides of sulphur and nitrogen on
combustion. Which is a better fuel? / ¢ <X’ ' BT BRI A 50 KJ/g & 3 I8 S84 B39 W
PTI SIS SATFITSS MR ST ST PAT & SI(P ST Y’ BT ARSI A 35 KJ/g & 3R 98
& B TR B 3T ATSEIOH & STHATSS IcUTed HaAT € €| dgaR SU- DI A1 82

1. Both fuels X and Y are equally bad / Ea:ﬁ_ﬁcﬂ:fX ARY WW@@%I
2. Both fuels X and Y are equally good / gl EC?FT X R Y T ®U W%I
3. Fuel ‘X “is better than Fuel ‘Y’ /g?ﬂ X giﬂ Y’ @W%I

4, Fuel ‘Y’ is better than Fuel ‘X’ /_Sﬁ‘il:[ Y’ _sc?-l:f Xy aBT'R %I

Correct Answer :-

¢ Fuel ‘X ‘is better than Fuel ‘Y’ /‘sEEFr ‘X §%Fr ‘Y’ @W%I

4) Nylon is used for parachutes because it: / T-I'IEFI"IJT-[, aTI'Q]fI & Pcl";f TR fBaT STt % e qg:

1. light weight and strong / I ¥ geehT 3R Tolgd BT 71

(28)



2. is eco-friendly / qafeRr & 3Ipd gl
3. does not catch fire easily / S Y GTFT:I_SQIU%T‘IT%I

4. is poor conductor of heat / HTHI T HEEISEE

Correct Answer :-

« light weight and strong / I § T 3R Tolgd gIdT 8|

5) Knives have a sharper cutting edge because it: / Wﬁ?ﬁ&ﬂﬁ'\’ Wﬁﬁﬂﬁ'@ﬁ%, Fife 98 -

1. Increases the area of contact and increases the pressure exerted / Tud & & ﬁq@mﬂa@n‘d GHIE ﬁf{@
PRATS|

2. Increases the area of contact and decreases the pressure exerted / U & & ﬁq@a%n GaTd T O B!
PRATS

3. Decreases the area of contact and decreases the pressure exerted /W % &F DI HHI 9T IS A H
S PRAT S|

4. Decreases the area of contact and increases the pressure exerted / ﬂﬂ*% c°33[ ﬁﬁama—ena = H q@‘
PRAT S|

Correct Answer :-

» Decreases the area of contact and increases the pressure exerted / W% 33[ ﬁwa%rra—ena NUICE: q@
HRAT S|

6) Boiling water reactor and pressurized water reactors are types of: / FdUT SI¢T ﬁw G

SN o ord Ruae? 1 & & forad ToR & -
1. Solar reactor / @T ﬁ‘QTET

2. Biogas reactor / g R

3. Thermal power reactor / e OTaR RueeR

4, Nuclear reactor / AMHB T ﬂ'QEET

Correct Answer :-

« Nuclear reactor / HD T IQQEEQ

7) When light passes from air to water, the angle of refraction is: / WhIRT SId dIg T oI § T Bl %,
<l 3gac= HIYT gl B:

1. Less than the angle of incidence / STUd DY HY

2. Greater than the angle of incidence / TUd DI Y 3B
(29)



3. Always equal to 90° with the surface of water / SI¢T a%qg Y T 90° P THH

4. Equal to the angle of incidence / U DIV & A

Correct Answer :-

 Less than the angle of incidence / U P HH

8) If cube of a natural number is 7 times the square of the number, then the number is: /'CI'%W

WTHTae BT BT U, IH H&IT & ¥ § 7 AT iU , ol a8 T Her gnf:
1.7

2. 49

3.8

4. 64

Correct Answer :-

9) If the ratio of lengths of sides of two squares are 2:3, then the ratio of their areas is: /afg e T Pt

Yeirafl Y daTsal BT SUT 2:3 §, a1 39 &Awal A f= 3rgura gh:
1. 16:81

2.4:5

3.2:3

4. 4.9

Correct Answer :-

., &9

10) If the ratio of the radii of two circles is 3:4, then the ratio of their circumference is: /?TI% Ea' QC_vﬁ 4|

freanait #T 3rguTd 3:4 3, A 31 URRET T srgura = gRm:
1.43

2.16:9

3.3:4

4.9:16

Correct Answer :-
(30)



e 34

11) If the volumes of two cylinders having the same height are in the ratio 25:49, then the ratio of their

%g%mammaﬁaﬁ%mwmzsm%,a’raﬂirﬁﬁwaﬁﬁalaum

1.5:7
2.7:5
3.25:49

4. 49:25

Correct Answer :-

12) Antacids is used for: / SFAT-TRI® T SUYNT SHP [o7¢ §IdT 3

1. Treating indigestion / 3{UTd & IUEAR

2. Treating high fever / 3= SdX P IUAR

3. Treating cold / S TH P ITER

4, Treating skin infection / «dd] GhHU & SUIR

Correct Answer :-

« Treating indigestion / 3{UT< % REEIN

13) In the LED bulbs, the term ‘LED’ stands for: / LED §¢§ H, X165 ‘Tas sl 1 & fore wged giar

1. Light Energy Diode / QISC oIl STITS

2. Light Emitting Diode / T8¢ SHICT SIS
3. Light Emitting Disc / T3¢ SHICT [$%h
4. Low Energy Diode / 9l 3T5il SIS

Correct Answer :-

« Light Emitting Diode / @ISC SHITCT SIS
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The population of a village has a constant growth of 5% per annum. If its present population is 33,075,
then what was the population 2 years ago? / T Tid P S E H AR 5% 31 q@ gidt %l afe
TP AH STHHEIT 33,075 §, 1 2 99 Ugd sHe! saEE fopdat At

1. 30,000
2. 28,000
3. 32,000

4. 31,000

Correct Answer :-

15) At how many points will two parallel lines intersect? / at Wﬁ?m fa ﬁ'g&ﬁ R yfa=fed
Han?

1. Two / E«Pf
2. Will not intersect at all / fSegpa Ufazesfad a1 gR1
3. One / U

4. Three / I

Correct Answer :-

o

« Will not intersect at all / Ricgm gfdeesiad Te! GHT

16) A shopkeeper was selling all his items at 20% discount. During off season, he offered 25% discount
over and above the existing discount. If Rohit had bought a pullover which was marked Rs. 1200, then
how much did he pay for it? /wwam'-ﬁmﬁaﬁ&haﬁ 20% WW@HW AT| TP &
SR, 39 IAHT e & AfAfT 25% Fe iR 3 Y giyun $t 1 afg Afga 7 1200 T & sifpa
e Tl Jaiax @icl, df 39 $9® 1 faar Yra s H3A1 grm?

1. Rs. 700 / 700 304
2. Rs. 740 / 740 3T
3. Rs. 720 / 720 30

4. Rs. 820/ 820 3T

Correct Answer :-

« Rs.720/72030°
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Aquatic animals in which fertilization occurs in water are said to be: / ST@lTd wig U= | St e #d g,
39 Pgd o:

1. Viviparous with external fertilization /a@ﬁﬂméﬁ 1Y SRS
2. Viviparous without fertilization / fASa & faHT GRS
3. Oviparous with external fertilization / SR S o 1Y 3{SuSidh

4. Oviparous with internal fertilization / SR o= & 91y 3fsueid

Correct Answer :-

« Oviparous with external fertilization /Wﬁf&ﬂ?%ﬂ'{q 3SUSTDh

18) Which factor is mainly responsible for increase in demand of natural resources? /WW@ 3|

HiTT § 9f3 F T P9 91 FRS G ©U | Icker! 82

1. Environmental pollution /U'CI‘T_CITUﬂ'qEITg{q'UT

2. Use of biodegradable resources / ST ST T SUART
3. Increased human population /aa‘igénﬂaﬁmw

4, Scientific advancement /m GHWW

Correct Answer :-

¢ Increased human population /WE@WW

19) The proteins and lipids, essential for building the cell membrane, are manufactured by: / PIRBT

fBreeht & fFaior & e smawas widi= ofk ferfus, = g1 fRfda ga &
1. The endoplasmic reticulum / g SiferapT
2. Golgi apparatus / TSl SUHROT

3. Mitochondria /Wﬁﬂﬁff’%m

4. Plasma membrane /Gﬁaamaﬂr

Correct Answer :-

¢ The endoplasmic reticulum / &l?&‘—oﬁ‘rmi%m

20) (4ax?+ 8a’x) + 2ax =

2%+
1 2x+4a

(33)



x+4da

2.

3, dy + 1
2x —da

4,

Correct Answer :-

21) Name the gas liberated during anaerobic breakdown of glucose. / 39 T BT Wﬁﬁ"@ﬁ\_ﬂ *
ARG HolH & R god gl ¢

1. Carbon monoxide /Wﬁ:ﬁm
2. Carbon dioxide / BTa- STZHGARS

3. Ozone / TSI

4. Oxygen / NIECE]

Correct Answer :-

« Carbon dioxide / BTS 31331}['67\5[]33

22) Short burst of electrical messages that passes along a neuron is called ./ dRPIRET &

AR oA a1 SgUa WM SITYUHIE __ Pgamargl
1. impulse / AT

2. stimulus / OROT

3. waves / 31

4. shock / 3{TdTd

Correct Answer :-

. impuIse/Gﬂa"T

23) Leela underwent a surgery and is slowly recovering. Name the organelle that should be most active. /

otar = Tred R w18 8 ok a8 fR-9 o 31 361 81 39 SRS &1 711 9153 ol qaifiie
afera g AR

1. Cell membrane /mw

2. Plastids / dd&
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3. Lysosome / T

4, Ribosome/ﬂ%@@ﬁ

Correct Answer :-

. Ribosome/mﬂ

24) 1f 2x+3y=14 and xy=8, then the value of 8x3+27)3 is: / T 2x+3y=14 and xy=8, @
8x3+27)3 &1 9 A gm:

1. 872
2.768
3.782

4. 728

Correct Answer :-
o 728

25) If the perimeter of a rectangle with one side 10 cm is 56 cm, then its area is: / gfe e

3mad, et wes Yt 10 3. B, o1 uRkAmy 56 A, 7, o 39w wa e ghm:
1. 186 sq cm/ 186 I .
2. 286 sq cm / 286 I T
3. 180 sq cm / 180 ¥ THI.

4. 280 sq cm /280 it o,

Correct Answer :-

e 180 sqcm/ 180 it ot

26) If the square of a number is multiplied by 5, we get 1125, then the number is: /afe Th IS FI D5

YU HRd & dl 8H 1125 U g1 &, df 98 H&n e &:
1. 14
2.25
3. 15
4.12

Correct Answer :-
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27) In a group of 8 boys, four have a height of 151cm and the remaining four have a height of 154 cm. Their

average height is: /sasaﬁ%mqaﬁAﬁ'mTﬁ 151 @Tﬁ%amﬁqaﬁﬁﬁ% 154%.%[ Gﬁﬁrém
Sftre et ghm:

1.151.5cm/151.5 9H
2. 150.5 cm / 150.5 I,
3. 150 cm / 150 T,

4.152.5 cm/152.5 941,

Correct Answer :-
e 152.5cm/152.5 I,

28) If area of rectangle is equal to area of square of side 12cm. If length of the rectangle is 16 cm, then its

perimeteris:/ﬂﬁ@ﬂﬂﬁﬁ@ﬁﬁﬂﬁ.ﬁ@ﬂﬁﬁ%ﬁﬁﬁ%waﬁﬁ?ﬁmﬁ
TS 16 9HY. §, O 3BT uREY A= g

1. 48 cm / 48 T,
2. 100cm / 100 THT.
3. 64cm / 64 THY,

4. 50cm / 50 I

Correct Answer :-

e 50cm /50 IHI.

29) Which one of the following is not a Rabi crop? / 7% & & ®19 W e 7l 1 wow 81 82
1. Mustard / ESRLs|

2. Maize / HIDT

3. Pea [ HX

4. Wheat / 7§

Correct Answer :-

e Maize / HIPhT
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An animal that transmits a disease from infected person to other potential host is
called . / T U] St Hep i safedt & gk GHTAT aree | 9 JA1iRd T €, S9
ST oITdl 3|

1. secondary host/mmm
2. primary host / TTYH® dT8®H

3. vector / A€

4. parasite/qﬁa}

Correct Answer :-

« vector/ daex
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